Open-

One-Step Word Problems
Choosethe correctoperationto solve each problem

1. A store has 946 boxes of cereal on its

shelves. |f the store adds 86 more boxes|

how many boxes of cereal will be on the One-Step Word Problems

shelvesin total? Choosethe correct operationto solve each problem

1. Rebeccahas 6 pieces of ribbon. Each 4. Astore had 57 bagsof candy. 1f19
piece ofribbonis 78 cm long. How long bags of candy were sold, how many bags
are the pieces of ribbonin total? of candy are leftin the store?

2. A clothing store has 120 pants and eac
pants costs $30. How much will it costto
buy all the pants?

2. Mary has 65 marbles, and her brother 5. There are 56 cupcakes and 8 plates. If
has 46 marbles. How many marbles do each plate can hold the same number of
they have altogether? cupcakes, how many cupcakes will each
plate hold?

3. Amuseum had 1,140 artifacts on
display. If 76 artifacts were taken down,
how many artifacts are still on display in

the museum?

3. Ifa pack of 96 crayons is shared equally | 6. Asoccerteam has 23 players and each
among 3 children, how many crayons does | player has 4 jerseys. How many jerseys

each child get? doesthe team have in total?
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